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𝐸 = 210′000 𝑁/𝑚𝑚ଶ

ν = 0.30 

𝛼் = 12 ∙ 10ି଺𝐾ିଵ

𝑓௬ = 235 𝑁/𝑚𝑚ଶ

𝑓௨ = 360 𝑁/𝑚𝑚ଶ

𝛾ெଵ = 1.05

𝛾ெଵ = 1.1

 



 



 



 

 

 



 

𝑞௞ = 0.8 𝑘𝑁/𝑚

𝑒 = 740𝑚𝑚

ℎ = 1020𝑚𝑚

𝑏ௌ௧௔௛௟ = 70𝑚𝑚

𝑙ௌ௧௔௛௟ = 1200𝑚𝑚

𝑡ௌ௧௔௛௟ = 12𝑚𝑚

𝑛 = 2

𝑡ௌ௣௟௜௧௧ = 10𝑚𝑚

𝑡௉௟௔௧௧௘ = 60𝑚𝑚

𝐺ௌ௧௔௛௟ = 2 ∙ 0.07𝑚 ∙ 1.2𝑚 ∙ 0.012𝑚 ∙ 78.5 𝑘𝑔/𝑚ଷ = 0.16 𝑘𝑁

𝐺ௌ௣௟௜௧௧ = 2 ∙ 0.07𝑚 ∙ 1.2𝑚 ∙ 0.01𝑚 ∙ 14 𝑘𝑔/𝑚ଷ = 0.023 𝑘𝑁

𝐺௉௟௔௧௧௘ = 0.74 ∙ 1.2𝑚 ∙ 0.06𝑚 ∙ 25 𝑘𝑔/𝑚ଷ = 1.33𝑘𝑁

𝑀ாௗ = 𝛾ொ ∙ 0.8 𝑘𝑁/𝑚 ∙ 0.74𝑚 ∙ 1.02𝑚 = 0.906 𝑘𝑁𝑚

𝑀ோ = (0.16 𝑘𝑁 + 0.023 𝑘𝑁 + 1.33 𝑘𝑁) ∙
1.2𝑚

2
= 0.908 𝑘𝑁𝑚

𝑀ோ > 𝑀ாௗ


